Math 2 Unit 3 Review




Name _____________________________
 Unit Test on Wednesday, October 26.  You will not be allowed to use a formula sheet so all formulas must be memorized.  The following problems will help you to prepare but also use the previous test as well as homework assignments.
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1.) Draw all the common tangent in the following figure.


	2.) In the following figure, find the length of BD
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	3.) Detmine whether BC is tangent to Circle A
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	4.) Find the value of x° in Circle A. (Assume all chords are diameters)
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	5.) Find [image: image5.png]
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	6.) In the figure below [image: image8.png]CE ~EB



.  Find [image: image10.png]
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	7. Tell whether the line, ray, or segment is best

described as a radius, chord, diameter, secant,

or tangent of circle P.
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[image: image36.emf]8. 


[image: image37.emf]If AB is a radius of A,

show that BC is tangent

to A. 

9) In the figure, identify at least one circle part:
Secant _________ 
Diameter _________

Chord _________ 
Tangent __________

10)  Suppose a space shuttle is orbiting about180 miles above Earth. What is the distance d from the

shuttle to the horizon? The radius of Earth is about 4000 miles. Round your answer to the nearest tenth.
	[image: image12.emf]11. In the diagram, mCAB = 35 and mACB = 95.

What are the measures of angles EDC and DEC

respectively?
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	[image: image13.emf]12)  In the diagram O thas a  radius of OQ drawn. 

PR is the diameter and mPOQ = 50.  Find the

measures of the given angles.
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d) mQOR

Find the folling:



	[image: image15.emf]13) mABC = 90, and mAD = 78.  What is the

measure of CD?
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	[image: image17.emf]14)  In the diagram, AB is tangent to the circle at point C, mDE = 100 and mEC = 120.  Find the measures of CDE, DEC, and DCE.
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	[image: image19.emf]15)    In the diagram, mDB= 32 and mEA= 88.  What is the measure of ECA?
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	[image: image21.emf]16) In the diagram, two chords of circle O, AC and BD intersect at E. mAEB = 80 and mCD = 94.  What is the measure of AB?
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	[image: image23.emf]17)  In the diagram, AB = 12,  DC = 18 and

CD  AB.  What is the length of OX?


[image: image24.emf]B

A

C

O

D

X


	[image: image25.emf]18) In the diagram, AE = 4x, ED = 3x + 9,

BE = 3x - 7, and EC = 2x +1.  Solve for x.
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	[image: image27.emf]19)    In the diagram, CD = 4, ED = 5, and BC = 3.  What is the length of AB?
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	[image: image29.emf]20)  In the diagram, AB = 6 and CD = 9.  What is the length of tangent BC?





21.  The area of a circle is 36(m2.  What is the circumference?
22.  A ______ is made up of all the points in space that are the same distance from a given point.

23.  A _______ is made up of all the points in a plane that are the same distance from a given point.

24. The volume of a sphere is 36 cubic inches, what is the length of the radius?

TRUE or FALSE.  Please write the ENTIRE word.

___________ 25.  The farther a chord is from the center of a circle, the shorter is its length.

___________ 26.   If the diameter of a circle is a side of an inscribed triangle, then the triangle is a right triangle.

___________ 27.  The measure of an inscribed angle is half the measure of the arc it intercepts.

___________ 28.  A tangent of a circle is sometimes a secant of that circle.

___________ 29.  If the measures of two central angles are equal, then the arcs they intercept are congruent.

___________ 30.  If the radius of a circle is 10 cm, then the longest chord of the circle is 20 cm.

___________ 31.  If two circles in the same plane have no common tangents, then the two circles intersect at exactly two points.

32. A dome in the shape of a hemisphere is constructed on the moon.  If the radius is 5 meters find the following measures: a) volume b) height inside the structure c) surface area d) area inside the structure
33. Another dome in the shape of a hemisphere is constructed on the moon.  This time the radius is 7 meters find the following measures: a) volume b) height inside the structure c) surface area d) area inside the structure

	34. Find the radius of a sphere with a volume of 150( cm3.

36.  The original radius of a sphere was 9 centimeters. Explain how the volume and surface area change if the radius is reduced to 3 centimeters.


	35. Find the volume and surface area of this sphere.

[image: image30.png]Find the volume of the sphere. Round your answer to two decimal places.
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Find the radius of the sphere with the given volume V. Round your answer
to two decimal places.

12. V=064in? 13. V= 1507 cm’ 1a. V=152mn’





	[image: image31.emf]37. In D, if the mADB = 70 and DB = 5

find the following measures.

a) area of D

b) area of sector formed by ADB

c) circumference D

d) length AB 

e) length ACB




